
Verb AP Easel

August 2013 Page 1 of 6



Verb AP Easel

August 2013 Page 2 of 6

1 2

Eight (8) #8 X 3/8” machine screws Four (4) M5 X 12mm hex flange head screws
Note: Second person required to help steady

and keep shelves upright as they are installed.



Verb AP Easel

August 2013 Page 3 of 6

3a 3b

Two (2) M5 X 12mm hex flange head screws
Note: Second person required to help steady

and keep shelves upright as they are installed.

Two (2) M5 X 12mm hex flange head screws
Note: Second person required to help steady

and keep shelves upright as they are installed.



Verb AP Easel

August 2013 Page 4 of 6

4 5a

Eight (8) M5 X 12mm, hex flange head screws
Note: Second person required to help steady

and keep shelves upright as they are installed.



Verb AP Easel

August 2013 Page 5 of 6

5b 6

Four (4) M5 X 12mm machine screws Note: Two people required.



Verb AP Easel

August 2013 Page 6 of 6

7 8


